n. 191, #1-18 all, #29, #26, #29

T.vy—y, =mx—Xx))
y—1=2(x—2)

The equationisy — 1 = 2(x — 2).

2.V — ¥V, = nx — Xx)
y—5=—-1(x—3)
y—35=—(x—3)

The equationisy — 5 = —(x — 3).

3. V—y=mx—xg)
y—(—4)=—6(x—7)
y+4=—-6(x—17)

The equationisy + 4 = —6(x — 7).

4. y—y, = mx — xy)
y—(—2)=5[x —(—8)]
v+ 2=5x+ 8)
The equation isy + 2 = 5(x + 8).



y—0= —3(}: — g)
y = —3(.1: — %)
The equation is y = —3(_.1: — ES)

6. y—y, =mx—x

y=(=3) =30 -0
yei=i
The equation is y + % = %1"
7. Y=y, =mx—x)
V= (—12) = —3(x - 5)
y+12=—3(x—5)
The equationisy + 12 = —%{x —3).

8 V—y =mx—Xx)
y—8.2=15[x —(—06)]
y—82=15x+ 6)
The equationisy — 8.2 = 1.5(x + 6).



_1—(=3)_1+3
3—-1  3—1

=2

9. m

4
2

Y=y = mx—x)
y—1=2x—3)
y—1=2x —20)
y—1=x—6

+ 1 + 1

y=2x—35

The equation is y = 2x — 5.

~5-0 _ —5-0_ —5
Rl TR A T
Y=y =mx—x)
y—0=—1I[x—(—4)]
y=—1lx+4)

y=—x—4

The equationisy = —x — 4.



T_2:__ __2
) 51— (=2)]
]

) —2=——x+2
) Z(I )
]
= 2= —x) —=(2
A} Z(IJ 2{}
y—2=——=x—1
t2 T2
]
= ——x + 1
YT 2
The equationisy = —%x + 1
8—4 4
V=¥ =mx = x)
‘r‘—l:E(I—-iH

' 4
3 3
=1 =—x) — (4
y 4{} 4()
’;
' —1==-x-3
y i
1
’;
r=x— 2
Y=

. S 3.
The equation is y = 7x — 2.



12-2 10

13. m = 57 _52—2
Y=y =mx —xy)
y—2=—2(x—17)
y—2=—=2x)— 2(—=7)
y—2=—-2x+ 14

+ 2 +2
y=—-2x+16
The equationisy = —2x + 16,

2-6 12-6 6 2

Y=y = mx = x)

14. m

y—(=2)= _1(3‘ — 6)

2
| |
y+2=—x)— 6
: 2() 2(]
|
!—|—2:__ —3
y 2‘7
— 2 — 2
|
) = —; —5
y z‘f

The equationis y = %.r — 5.



—9—(=9) —-9+9 0

15. m = =

-3—-1 -3—-1 —4

Y=y, =mx—Xx;)
y=—(=9)=0x—1)

y+9= 0
-9 -9
y=-9

The equation is y = —9,

16. m =

13—19 _13—19 _ —6 _

5—(=5) 545
y— ¥ =mx —xp)

y—13= —%{x—i\
y—13= —%{x} —%f—f*}
y—13= —%er 3
B3 413
y= —%x—l— 16

10

The equation is y = —%x + 16.

0

n| e



Tom=-— =2 3 -:_ﬁ(_
2—06 —4 —4 3\
Y=V = m@ = x)
11 =2x—6
Y —3(-1' )
11 =2x— 4
Yy -3
+ 11 + 11
2
?:-_—'—?
y=3X
The equation is y = _%x + 7.
1 1 1, 24 25
== (=3 <+3 +Z =
18 m— _ 8 _8' % 3
_1_H _1_4 _3 _3
2 < 2 2 2 2
_E(_E')__E
8\ 5. 4
y— V= mx — xp)
ﬁ
= (=3)=—"x—2
y—(=3) 4( )
5.5
'r_|_3:_"_'r_|_"_
) TR
— 3 —3
po 51
4 2
The equation is y = —gx — %



;53— (CD_S+1_6_,15-5_10_
4—2 4-2 2 6—4 2
29 —15 _ 14
= :T
§—6 2
17 — 90
47-29 18 _
10—8 2

Because the y-values are not changing at a constant rate, the
data cannot be modeled by a linear equation.

14 —12 _0.2 1.6 — 1.4 _ 0.2
pu— pu— p— p— j
26. < =TT =020 = =02,
2-16 _04 _

4—-2 2
Yoy = mx X
y—2=02(x—4)
y—2=02(x) — 0.2(4)
y—2=02x—038
T2 t2

y=02x+1.2

Because the y-values increase at a constant rate, the data

can be modeled by a linear equation. A linear model is
y=02x+ 1.2.

]



29. The values that are substituted for x; and y; should be from
the same point.

_3-=2
41
Let (x;.v,) = (1.2).

m

1
3

Y=y =mx—xy)

y—2=—x—1)

1
3

ot = Ny . l .
Anequationisy — 2 = z(x — ).





